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The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type [ncome over previous year |Expenditure over previous year
2021-2022 | 20222023 | 20212022 |  2022-2023
PSU Banks 15% 17% 13% 2%
Old Private Banks | 20% 14% 15% 17%
New Private Banks| ~ 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 11%

Note:  Inthe above table, the meaning of any figure x% is as follows :

() 2% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021,

() 2% in 20222023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

Sub questions

Question Number : 1 Question Id : 53307219433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of PSU Banks in 2020-2021 as ¥ 10,00,000 crore. If the expenditure of PSU
Banks in 2022-2023 is equal to the income of PSU Banks in 20202021, then the income of PSU
Banks in 2022-23 will be approximately % more than the expenditure of PSU Banks in
2021-2022.

(1) 62

(2) 44
(3) 56
(4) 64

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307219434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[f the Expenclllum of for eign Banks in 2020-2021 is equa] to their income in that year and is equal
to T 60,000 crore, then in 2022-2023, what is the difference in income and Expendllme of Formgn

Banks ?

(1) ¥ 3984 crore
(2) 4000 crore
(3) ¥ 5462 crore
(4) ¥ 3460 crore

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the income of new Private Banks in 2021-2022 as ¥ 8000 Crore. If the expenditure of
new Private Banks in 2021-2022 is same as their income, then the difference in income of new
Private Banks in 2021-2022 and 2022-2023 will be approximately % of the difference
in expenditure of new private banks in 2021-2022 and 20222023,

(1) 52
) 76
) 84
) 118

2
(3
(4
Options :
1.1
2.2
3.3

4.4

Question Number : 4 Question Id : 53307219436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of PSU Banks is twice the expenditure of Foreign Banks, then in 2022-
2023, what will be the ratio of income of PSU Banks to the expenditure of Foreign Banks ?

(1) 1:2
Q) 78:37
(3) 75:2
) 2:1

Options :



1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2021-2022, if the income of Foreign Banks is four times its expenditure, then what will be the
approximate ratio of income to the expenditure of foreign Banks in 2022-2023 ?

1) 1:4

o 4

(
(4

=

) 4:1
] B:1
| 158
Options :
1.1
2.2

3.3
4.4

Question Id : 53307219432 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307219433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TS o 2020-2021 % w3, o A T 10,00,000 9 §1 AR 20222023 F Rww, 8 A
o7 2020-2021 % 0,083, o # A9 & G €, o 2022-2023 § N.06F, 5 A A9 20212022 §
w9 g, I F 7 § wm % SeF 5 |

(1) 62

2 44
(3) 56
(4) 64
Options:
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307219434 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

afe 20202021 ¥ feestt 1 %1 o A T AW F WA & R TR T 60,000 T 2, A
2022-2023 3 foreh e 1 o1 & o 1 o ffry 7

(1) 3984 FE
(2) 4000 g
(3) ¥ 5462 FE
(4) T 3460 FE

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T wifere foF 70 ot e a1 o o 20212022 % T 8000 € o1 Afe 20212022 ¥ 7 Feh e
T T A F WA O, @ 2021-2022 3% 20202023 W A A F o S 2021202 3R
2022-2023 § 7 et ¥ & 1 % AR H T % T

(1) 52

(2) 76
(3) 84
(4) 118
Options :
1.1

2.2

3.3
4.4

Question Number : 4 Question Id : 53307219436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 2021-202 % W.ww 3, I % A e o F oW AT E A 2022023, Wwwy, A3 &
o1 1 foeah 1 % o7 ¥ oFm fern 7
(1) 1:2

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307219437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 2021-2022 eyt o8] 1 13 36 48 W T €, T o 2022-2023 H focwh o i o7 1 I
o H T S 2

() 1:4
2) 4:1
B 5il
4) 1:5
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072762
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307219438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of mental development of Adolescents ?
A) Increased ability to deal with abstraction

(

(B) Reviewing of hopes and aspirations

(C) Increased ability to understand

(D) Increased ability to generalize the facts

(E)  Ability of problem solving

Choose the correct answer from the options given below :
() (B) (D) and () only

(2) (A), (B) and (D) only

) (4),(C), (D)and () only

(4) (C) and (E) only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307219438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereirl & wmfaes fasra &t fagmamd €

(A) 9R T H FAdeR A FI aftd arad
(B)  STOM3il I SATeRiamiall =l FHieN

(C) &9 I afefd Frgan

(D) TAl % FHFITHI Tl 9@ g3 Arddl

(E) EWEAT THIHM 1 A0

= feu Tu foepedl § 9 W&t 3T =5H HIA
(1) %= (B), (D) 3R (E)

(2) e (A), (B) 3R (D)
(3) A (A), (O), (D) 3R (E)
(4) o9l (C) R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 7 Question Id : 53307219439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Knowing the importance of metacognition, Richa decided she would try to focus her young students’
attention on their own thinking skills. Richa knew by having her students “think” about their
thinking they would eventually increase their metacognitive skills, Which one of the strategy
should Richa employ ?

(I) Overlearning
(2) A KWL Chart
(3) Rote learning
(4)  An algorithm

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307219439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 53307219440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sociulogy professnr wants to gal‘her student’s Opinions on controversial social issue discussed in
class which tools allow the professor to create polls and analyze responses in real-time ?

) Poll everywhere
Camtasia
Strawpoll
Survey Monkey
) Mentimeter

(A
()
(C
(D
(E

Choose the correct answet from the options given below :
(1) (A), (B) and (D) only

(2) (A), (C), (D) and (E) only
(3) (B) and (E) only

(4)  (B), () and (D) only
Options:

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 53307219440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YRISIYIA %1 T WA, e W =l Fe T foel fomeren senforer 38, o orena o e ST <1l
¢ fmfefs o 4 fa of (Svm) 91 7 R 5% fore-on & ferfel o R e S
IAfF 0 g R W 87

(A) e TR

Options :



1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Priya knows she did something embarrassing at her best friend's birthday party many years ago,
but she cannot remember what it was. This is an example of :

(I) Repression

2)  Amnesia

b

(
(3)  Implicit memory
(4) Interferences

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 53307219441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foe ot 91 ¢ 1o o o el ) ot erd e i o o e e e el o o9 e 3
fore o o] 8 % T 9 TRl €1 7% ek 9 o e €

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A science teacher assign students a project where they design and conduct on experiment to
investigate the effects of environmental factors on plant growth in real time. This assessment is an
Example of ?

(1) Summative Assessment
(2) Authentic Assessment
(3) Ipsative Assessment

(4)  Peer Assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% ot e foren i o) e Wit S 0 € 2] o W e R Aol A o
1 ST T F 09 O W W e TR R W e gl w0 § T qee

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307219443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the main preoccupations of quantitative researchers :
(A) Measurement

(B) Causality

(C) Emphasis on context

(D) Generalization

Choose the correct answer from the options given below :
(1) (A) and (B) only

() (A), (B) and (C) only

(3) (A), (B) and (D) only
(4¢) (B), () and (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307219443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTATCH SERaial o & RS i Je=r] Hig ;
(A)

(B) =hIUIAl

(C) Fed W

(D) HTHRHTRT

= feu 7o fasedi # 9 |E S F1 999 FI9
(1) Fad (A) 3R (B)

(2) = (A), (B) 3R (O)

(3) %A (A), (B) 3R (D)

(4) %99 (B), (C) ¥R (D)

Options:

1.1

2.2

3.3
4.4




Question Number : 12 Question Id : 53307219444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Your measurements should show which of the fullowing validities if you want to generalize the
results of your research to a different population ?

(1) Construct validity
2) Internal validity

3)  External validity

) Convergent validity

(
(3
(4
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 53307219444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307219445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II

(Abbreviations) (Meaning)
(A) id., (I) refer to
(B) post: (II) the same
(C) wvid (ITII) namely
(D) wiz., (IV) after

Choose the correct answer from the options given below :
(D) (A)-D), (B)-(I), (O)-(), (D)-(IV)
(2) (A, (B)-(1V), (O)-(D), (D)-(II)
(3) (A1), (B)-(I), (C)~(I), (D)-(IV)
(4)  (A)-(II), (B)~(1D), (C)-(IV), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEt-11
(wfgrmamer ) (3ed)
(A) @€, O g
(B) UR=: (I ==
(C) fa= (II1) HrHe:
(D) fas, (IV) 9=rd

A= fou 7o fasedi § 9 W& W F 999 Ff9
(1) (A1), (B)-(I), (C)~(II), (D)-(IV)
(2) (A, (B)-(IV), (O)-(D), (D)~(IL)
(3)  (A)-(11), (B)-(1), (O)-(1), (D)-(IV)
(4) (A)-(II), (B)-(1D), (CO)-(IV), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 14 Question Id : 53307219446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A sampling technique that relies on getting information from people who know about a population
of interest rather than from members of that population themselves, refers to ?

()

(2)

(3)  Snowball sampling
(4)

Pmbabi]ity sampling
Key informant samp]jng

Quota sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 53307219446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T YR T S 39 A | el e W fover gt ¢ o afvefa o e wuf A SRa § A
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 53307219447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[denlify the measures of dispersion :
(A) Mean deviation

(B) Median
(C) Standard deviation
(D) Range

(E) Quartile
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A)and (E) only

(3)  (A), (C) and (D) only
(4) (), (D) and (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 15 Question Id : 53307219447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yeh101H I WY Tl TE=H HifT ;

(A) Hre fe=e

(B) HIfeHeR

(C) ek fereeH

(D) WH

(E) IR

A feu T farehedi | GE ST = 9
(1) 9 (A), (B) 3R (O)

(2) A (A) R (E)
(3) F (A), () 3 (D)
(4) % (C), (D) HR (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 16 Question Id : 53307219448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When we describe how a media system should function in conformity with ideal values, it is
labelled as ?

(1) Social theory

(2
(3
(4

) Normative theory
) Comparative theory
) Analytical theory

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307219448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 3 0 o 0 9 & 1 fot o e e el o o e et o e o o
%1 0 Aew o 39 fefarfen o & aiga o 1 2
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Options:
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307219449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequential accounts, told from a particular viewpoint are called :
(1) Situational actions

(2) Social themes

(3) Narratives

(4) Dignified discourse

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 53307219449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ferdmy gfteepion & shfee STrsRoe faerull =i et < € ;
(1) Teafq daEt wH

(2) wrHIfseR fawa e
(3) @A
(4) TR0 oy
Options:
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307219450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Many modern scholars consider the following as positive aspects of communication which of them
are true ?

(A) Communication helps create knowledge

(B) It defines the human goals

(C) It supports efforts to change social morms

(D) It makes simple tasks complex

(E) It promotes propaganda techniques all the time
Choose the correct answer from the options given below :
(1) (A) (B) (C) only

) (B), (C), (D) only

3) (D), (E) only

@
® O

(4) (A, (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307219450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(
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Options :
1.1

2.2



3.3
4.4

Question Number : 19 Question Id : 53307219451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are part of narration ?

(A) A sequence of a beginning, middle and end

(B) Causal development between sequences and the conclusion
(C) Memorable phrases indicating what happened

(D) Absence of spatial context

(E) Exclusion of temporal factor

Choose the correct answer from the options g‘iven below :

(1) (A), (B), (C) only

2) (B), (Q), (D) only
(3) (D), (E) only
(4)  (A), (C), (E) only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307219451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea § 9§ #H9-3 99 &1 9 €2

(A) Y, 7Y AR 3id 1 STTHA

(B) TRy 3R frerd =1 2% fa=rr

(C) ¥ % Haiy § Hehd o4 aTc] TO vealY
(D) Tifek |y &1 9 B

(E) hIfcieh Rl o1 Sfgtho]

= feu 7o fasedi § 9 9E 3T F1 994 Fif9
(1) = (A), (B), (O

(2) =@ (B), (C), (D)

(3) 9 (D), (E)

(4) F=@ (A), (O), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307219452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

List the following developments in a clu‘nncnlngical sequence :
(A) Invention of television remote controls

(B) Publication of diurnals

(C) Invention of camera

(D) Arrival of mass market paperbacks

(E) Origin of hieroglyptic writing system

Choose the correct answer from the options given below :
(1) (A), (©) (E), (D) (B)

(2)  (B), (D), (C), (E), (A)

(3)  (©), (B), (D), (A) (B)

(4) (), (B). (C) (D), (A)

Options :
1.1
2.2
3.3



4.4

Question Number : 20 Question Id : 53307219452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea fasemi &1 Femd & T 70R g 98 F
(A) Zdifears % fie Fiel o aTfaern

(B) ofeR weRTgA

(C) AL H FAferer

(D) ¥R H a1 YA 9 UqTaih 1 3TH]

() Teafardia ci@= ol 1 3594

A feu T ferredl ® | W& ST Al =91 il
(1) (A) (©), (B), (D), (B)

(2) (B), (D), (O), (E), (A)

3)  (©), (E) (D), (A), (B)

(4) (E), (B), (O), (D), (A)

Options :

1.1

2.2

3.3
4.4

Question Number : 21 Question Id : 53307219453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 people consume 320 kg of rice in 50 days. In how many days will 30 people consume 80 kg of
rice ?

1
(1) 13; days

2
(2) 15; days

2
(3) 175 days

1
(4) 155 days

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307219453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

40 7 320 e, = 50 foeff o 3990 0 €1 30 7 80 e, e e e vl =R
(1) 18%1%31‘1?
2) 16%1%:%‘1'13
(3) 17%1%#1‘1?1'

(4) 16% fe 7

Options:
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307219454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of Rs. 623 results in a discount of 11% on the market price of an item, at what
price should the item be sold to offer a discount of 19% ?

(1) Rs. 357

(2) Rs. 567
(3) Rs.577
(4) Rs. 587

Options :
1.1
2.2
3.3
4.4



Question Number : 22 Question Id : 53307219454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 623 %9 1 foret e forel e 1 ieht ST W 1% 71 2 o1 o € ff 38 W W 19% 1 92
& ¥ foru S foert e W o o e

(1) 557 ¥

(2) 567 ¥

(3) 577 ¥
(4) 587 ¥

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next number in the number series :
48, 24, 72, 36, 108, ?

(1) 115
(2) 121
(3) 110
(4) 54
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fqu TTu foeredi # 9§ @ H&=A1 &1 FH |
48, 24, 72, 36, 108, ?

(1) 115

() 121
(3) 110
(4) 54

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coding language, the word ‘GREAT" is coded as "ETCCR’, then the word 'FROWN'
will be coded as :
() DTMYL
() ETNWL
3) HTQYP
4) DSOXL

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAfed Fechgs i § ¥ ‘GREAT' #1 ‘ETCCR' 8 #feq {1 511 €, 7 v FROWN' %1 F2
am:

() DTMYL

() ETNWL
(3) HTQYP
(4 DSOXL

Options :
1.1



2.2
3.3
4.4

Question Number : 25 Question Id : 53307219457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Trawlling in a train, a man notices 13 l'elephnne poles in two minutes. [f the two successive
telephnne poles are knowntobe 125m a patt, then the train s travelling ata speed of :

(1) 40 km/hr
(2) 42 km/hr
(3) 45 km/hr
(4) 48 km/hr

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307219457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o7 TH % SN, TF ST 7 13 26w e 2 el W S o S orpEi eaen U &
R AP @AM I T RA L)

(1) 40fH/9
() 4 fFd /4
(3) 45 fet/d
(4) 48 foefl /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307219458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"Of course, abortion has to be lega]. After all a woman must have freedom to do whatever she
wants with her own body”. Identify the fallacy committed in this statement :

(1) Fallacy of composition
(2) Complex question

(3) Begging the question
(4) Hasty generalization

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307219458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

195G Tofa 2B frfer o ST <R | R, TRl e B A YR % W 9 o A A
TG 1 AT | 58 FeR H T R T

1) HIEG
)

(
(2
(3)  STenga 3
(4)  SfoEi S

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307219459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contradictory to the proposition “All cats are Carnivores” ?
(1) Some Cats are not Carnivores

(2) Some Cats are Carnivores

(3) No Cats are Carnivores

(4)  No Carnivores are Cats

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 53307219459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretfefan & & #1-4 viefa, 38 vt fF g fafeemi wrawe & €, @i o ¢ ?
(1) %@ fafeerar sraveft w8 &t €1

(2) T fofeern wrave o € |

(3) FrE o forcelt rmee T8 e €

(4) FE oft wraweh foreeh 76 2t 2

Options :

1.1

2.2

3.3
4.4

4

Question Number : 28 Question Id : 53307219460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) No Carnivores are Cats.

(B) Some Carnivores are not Cats.

(C) All Cats are Carnivores

(D) All non-carnivores are non-cats

Choose the correct answer from the options given below :
(1) (C) and (D) only

(2) (A)and (D) only

(3) (A) and (B) only

(4) (B) and (D) only

Options :
1.1
2.2
3.3
4.4



Question Number : 28 Question Id : 53307219460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafga § § ®F-9 %A afFs gfe § guges ?
(A) oS off HrEvel faeeh 78 S B |

(B) F® Arams fowef 7& e €|

(C) Tt farfeemT aravyed 2t €|

(D) @it T-ntaweaf - fafeeral 2 €

A feu U fopredl § 9 HeIR SUeR I S =A RIS
(1) @ (C) 3R (D)

(2) 9 (A) 3 (D)

(3) A (A) R (B)

(4) %9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307219461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true ?

(1) Ina valid argument all of its premises have to be true

(2) Validity can be attributed to any single proposition by itself
(3) Truth and falsehood are attributes of single propositions
(4) Truth and falsehood can be attributed to arguments

Options:
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafea #H-31 F99 1 €72

(1) Tt 92 gfem o ot @it senfeammeti &1 5 2 orafer ¢ |
(2) forst e wfaatd oX S5ek g 21 S ORIt i S SRl €
3) ol IR S, kel Yfaaadl aeq ¢ |

(4) Tar ok ST i gfard R quRifad fea s e B
Options :

1.1

2.2

3.3
4.4

——

Question Number : 30 Question Id : 53307219462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyiya (Classical school of logic) which of the following step of inference corresponds
to Upanaya ?

(1)  The hill has fire

(2) Because it has smoke
()

(

4)  The hill has smoke which is invariably associated with fire

What ever has smoke has fire, e.g. an oven

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T (YR S Tt 3 SR A 1 fefaias SH-3 0 99 & SR 87
1) W H am el

2)  HF T YA

3) W oA R §, o el e & arelfa O g (a)

4) TS & S e w9 { o g ©

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 31 Question Id : 53307219463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the Personal
Computer (PC) in the 1970s ?

(1) Transistor based

(2
(3
(4

) Integrated components (ICs) based
) Microprocessor based
) Vacumm tube based

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frey 3 1 i TR 1970 e e v (R) ) o o e

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Cnmputer security breaches can be minimized b}f incorporating which feature into a computer
system’s operation ?

(1) Installation of software of user’s choice

(2)  The ability to log into multiple nodes, using only one account
(3)  Forced log off from the system if no activity has been detected
(4)  Allowing the uploading and downloading of files to the system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOE YA 2 et 3 £ W 2 o 9 e o e % R e s A o
o A ¢/

(1) T % ¥ % Hiwea A vaei &

(2) o T T o A 3R a5l Ae) W -5 et b Al

(3) % Tfefafts 3 2N %1 T A R R ¥ T i i g

(4) forem W wEEl F AVGIE 7 TRAGE T A SN &

Options :

1.1

2.2

3.3
4.4

Question Number : 33 Question Id : 53307219465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

__is used to connect the smartwatch and wireless headphone to the phone and is a
range wireless technology. is used to connect the phone and the laptop

to the outside world called the “Internet” and it uses radio waves to allow high-speed data transfer

over short distances. is used to connect the phone to countless services via the “Internet”

and is a range wireless technology.

(A) Short

(B) Long

(C) Witi

(D) 3G/4G/5G

(E)  Bluetooth

Choose the correct answer from the npti{ms giv en below ;

(1) () (A) ©), ©) @6

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fe1 e o fra Tl 1 60 W o o 7 A-E W % 0 9 ) T A
F T TS 9 9 ¢ W W F fu R T M w
9 el S ST # 1 A B &R o9 15 o A Y 6 el A
et & fom e o & ol 7 g W o= e S e & el i # Em ww g
1 WA B I 3o o WA @ e Saell @ S  fau fE o € R w®

D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307219466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



With reference to computer components, which of the following statements are correct ?

(A) A hard drive has no moving parts.

(B) Fan s required to cool down CPUs so that these do not overheat,

(C) Accessing information in a hard drive is faster than accessing information stored in RAM.
en power is switched off, any information stored in a hard drive is lost.

When power is switched off, any information stored in a hard drive is lost

(E)  For a given amount of memory, RAM is more expensive than a hard drive,

Choose the correct answet from the options given below :
(1) (A), (B) and (E) only

) () and (D) only
3 (©) (D) and [E) only
(4)  (B)and (E) onl
Options :

1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FOR TR & G H, Fe H A P T W § 2

(A) T g o HE Maviict T Tl & &

(B) e T, F T A T T F SATEFA QA & AE FTH A T
(C) o Trea W e TR SR, § e g S | sty ga o 2
(D) v fere ayfer o & < I € A ergrd § e ge oW 8 S €

(E) Hfd 1 TeT WHN 24, TTETRA I ST ST A, SHfen Hem g g

el feu T fersedt o § WY 3T 1 = HIAC

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List -1 List - 1I
(Computer Components) (Meaning)
(A) RAM (I)  Brain of the computer
() ROM (I) Stores the date, time and system configuration for
BIOS
(€) CMOS () Memory that can be written to and read from
(D) CPU (IV) Stores ‘boot up” program

Choose the correct answer from the options given below :
(1) (AHII), B)-(I), C-IV), (D))
V), (CHI), (D)-(1)

(2)  (AHII), (BH

(3) (A){), B)(I), (CH(1IV), DH(I)
() (AH1LV), (BHII), (CHID), (D)-(1)
Options:

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 53307219467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tell-1 8 GeEf-11 1 e it
Tl el

(W He ) ()
(A) ST, () R 7 e
(B) RN () % ot oms.20.0m, 2 fofy, W 9 e Swwm 1 e & ¢
(C) WA, (I1T) % e forg foran o1 o 9 sl ey o1 ok
(D) #h7 (V) ‘T2 479" T o HERT H ¢
A fou U foepedl § 9 W I 1 T FIoC ;
(1) (AHI), B, ©-IV), (D})
(2)  (AHII), BIV), (C)-(ID), (D))
() (A, (B, (O-(IV), D)-(m)
(4)  (AHIV), (BIHIL), (C)-(ID), (D))
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dysentery is a waterbome disease caused by water contaminated by :
(1) Virus

(2) Bacteria

(3) Fungi

(4) Protozoan

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Yferer st s T Fretifere o @ forad Hefia s/t & SR i S ®
(1)  feamy
(2)  iremy
(3) HAH

(4) RS

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following agreements/ protocols mainly focuses on the curbing of global
temperature rise ?

(1) Montreal Protocol

(2) Kigali Agreement

(3)  Kyoto Protocol
(

4)  Paris Agreement

Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307219469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretifera # 9 oG )/ Tamem # qem: ofvs aToen giE @ W B W a6 ol T §

(1)  Fitewe FAmR
(2) et Farem
(3) IR TR
(4) UfE TR
Options :

1.1



2.2
3.3
4.4

Question Number : 38 Question Id : 53307219470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A tsunami 1s a :

(1) Transverse wave

(2) Longitudinal waves

(3) Both transverse and longitudinal waves
)

(4) Neither transverse nor longitudinal wave

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& 5

(3) ITIXY 3R e I ali
) AT ST A B e Al

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is a chemical parameter to measure the water quality ?
(1) Turbidity

(2) Temperature
(3) Hardness

(4) Color
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sfet 1 TTer Hi9H o fore ffafaa | 9 sen qamafTes e @
(1
(2)

)
(4)

iR

Options:
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 53307219472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an air pollutant ?

(1) NO
(2) NOZ
(3) NO,
(4) N,
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307219472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfed o 4 = =51y ygwes 74 €2
(1) NO
(2) NO,
(3) NO,
(4) N,O
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which was the first commission to touch upon the issues of higher education in India indirectly ?
(1) The Indian Education Commission (1882-83)

(2) The Indian Universities Commission (1902)

(3)  The Calcutta University Commussion (1917-1919)

(4) The Hartog Committee (1929)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foFm v SR 3 A H 3 foen % R o Tt 9N W Seord foRan ?
(1) W foem s (1882-83)

(2) YR favafaerea s (1902)

3) IcTeR fovafaered SE (1917-1919)

(4) = |imfa (1929)

——



Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The N.N. Kunzru committee was formed to look into the issue of _ at the university
level.

(1) Administrative reforms

()

(3)  Sports education
(4)

Selection of vice-chancellors

Medium of instruction

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307219474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, F% fifa 1 7, Fvafoare &R § i ) 9t 5 v F9 F fo
fepa e e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B}F 1946-47, the number of universities in India was :

(1) 12
(2) 14
(3) 15
4 17
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307219475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a9 1946-47 TF 9T | Tovafa=mei =1 &= o

1y 12
2) 14
(3) 15
(4) 17
Options:
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307219476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ancient universities was visited by the Chinese traveller Hiuen Tsang ?
(1
2
3

4

indraprastha

)

) Takshashila
) Nalanda
)

(
(
(4) Odantapuri
Options :

1.1

2.2

3.3

4.4



Question Number : 44 Question Id : 53307219476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & 9 ®F | e favafemrera &1 ywo <= 4 goTH 9T g foan 2
(1) z=9%

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

(Authors) (Books)
(A) Brahma Gupta () Lilavat
(B) Varahamihira (If) Brahma Sphota Siddhanta
(C) Bhaskaracharya (L) Natyashastra

(D) Bharatmuni (IV) Brihat Sambhita

Choose the correct answer from the options given below :

(1) (A1), (B)-(1), (CO)-(1V), (D))

(2) (A, (B)-(IV), (C)-(1), (D)-(LIL)
(3)  (A)HIV), (B)-(IL), (C)-(I), (D)~(IL)
4) (A1, (B)-(1V), (O)-(), (D)-(0)
Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307219477 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEi-11
(T ) (IR )
(A) R (O e
(B) =rsfAfE (I1) @ The fasgida
(C) HRRTEHE (III) Aregeme
(D) R4 A (IV) FeHfed

A= fou 7o fasedi § 9 W& ST F T9949 Ff9C
(1)  (A)-(1D), (B)-(I), (C)~(IV), (D)-(1I)

(2) (A1), (B)-(IV), (C)-(I), (D)~(III)
(3)  (A)-(IV), (B)-(1I), (C)-(1), (D)-~(LL)
(4) (A1), (B)-(IV), (O)-(I1L), (D)-(I)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072763
Question Shuffling Allowed : No

Question Id : 53307219478 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions,

Floods are normal events that cause damage. As rivers carve and shape the landscape, they build
broad ﬂoodplajns, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
though, flood-control structures have seperated floodplams from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn't soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downstream, and so on.

Sub questions

Question Number : 46 Question Id : 53307219479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

100 year flood" :
(1) Will happen every 10 years.

(2) Will never happen twice in the same year.

(3) May happen more frequently than a “10-year flood”.
(4) May happen once every century

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307219480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the biggest economic loss from floods typically due to ?
(1) Destruction of buildings

(2) Loss of life

(3) Contamination caused by flood waters

(4) Erosion of river banks

Options :
1.1
2.2
3.3



4.4

Question Number : 48 Question Id : 53307219481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do human activities like paving the roads and parking lots influence floods ?
(1)  They reduce the severity of floods

'T‘

2)  They speed up the rate of run off into streams and lakes
4)  They have no influence on floods

(
(3)  They decrease the volume of water discharge after a storm
{

Options:

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How do flood control structures like levees and flood walls affect downstream areas ?
(1)  They prevent floods

2)  They reduce flooding in all areas

3

4) They increase the absorption of water upstream

(
(3)  They transfer the problem downstream, excerbating floods there
(

Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307219483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do broad floodplains, created by rivers often lead to ?
(1) Higher mountain formation
) Damage soil condition
(3) Periodic inundation
)

(4) Formation of lakes
Options :
1.1

2.2



3.3
4.4

Question Id : 53307219478 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

e Teron o e T i W & S it
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T &7 e & 9o 21 8 € | g ol g vl v o 3 o @ e e £ o v o e
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Sub questions

Question Number : 46 Question Id : 53307219479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“100 adE TR :

(1) 9% 10 991 § AT

(2) UH B Y H G AR FHH Tal AT

(3) Uk ''THadEa’ W ger H sy TR s
(4) U TSI H Uk 9 3T ekl ©

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219480 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

g ae 9 fFe o watfies sfeds af ardt €2

(1) W& #1 T2 2

(2) S =

(3) @@ % U ok FROT GG
(4) <1 T2 o FE
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307219481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR TG T A I & e T A Y W A § AT R R Y e € 7
(1) 358 o F fosffoe % 2 €|

() 3o e o el A o R 3 o 9 vfe @ I 2|

(3) 3R fore U 3 T R 3 o 1 e W €

(4) 3 AR R Y6 T I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307219482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st 7 g T Sref g P STt Srvae & a1 foFm arme ot el 7
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(4) T FO IR A SR e At T 6 GG H T 9 Al ¢ |

Options :



1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el g fAfia =T a1gdd &1 ok HROT agHT =1 B ¢ 7
(1) ST geiq fmio |

(2) Tzt = feafa @@ 2 ©
(3) THI-THT TR SFATAE Brel © |
(4) e = fmior dar €
Options :
1.1
2.2
3.3
4.4
Commerce
SectionId : 533072256
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072764
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT a part of micro environment?

1. Suppliers

(i)

. Customers

(el

. Competitors
4. Technology

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307219484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRad o 9 oI 91 g&H / AP aId1aR 07 b1 HIT 81 g

. 3fgfcidhdl
U

3. gfaagsf
4. ORI

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 52 Question Id : 53307219485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which environment shapes the attitudes of human beings, though there may be great diversity in
its impact ?

1. The Political Environment
2. International Environment
3. The Socio-Cultural Environment

4. The Economic Environment

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307219485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁ*wgmﬁwqﬂaﬁmﬁiﬁmﬁwmam%mmuwﬁwﬁﬁwﬁ
Tl g 2

1. TSI dTdTaRy

2. RV IR

3. WIS - Gipide aTqTaRy
4, e TR

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307219486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is the apex decision -making body of WTO?

. General Council

(i)

. Executive Council

(el

. Ministerial Conference

4. TRIMS
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307219486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafiRad & U $H Syl &I Yai=d [l i1 82
I. gy uiRyg
 HAGRI URYg

3. A geTeA

[

4. {9 (TRIMS)

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following has given this definition of CSR? “Wealth created from society has to
be ploughed back into society.”

1. Milton
2. Henry Ford
3. Mahatma Gandhi

4, Kay and Silberston

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfeiiad ¥ © fore] iegem & gg uRuTer € € o <Gl § ioid &1 T Wl O: Gl
o fofU STl B W)

| e
) TN Bls
3, FRre It

4. T 3R YeIaRE
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The effect of exchange rate fluctuations on a firm's future cost and revenues is termed as:-

1. Transaction Exposure
2. Translation Exposure
3. Accounting Exposure
4. Operating Exposure

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

?@wﬁaﬁuﬁmﬁaﬂﬁaﬂwﬁwﬁﬁmmﬁm-mﬂmﬁwmw

1. o & el Sy
2. STaTe, Siifg
3. i SIRgH
4. YITeH Sfem
Options :
1.1
2.2

3.3
4.4

Question Number : 56 Question Id : 53307219489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Bretton Woods monetary system was based on the fixed rate monetary system. It lasted
between the years:

1. 1946 To 1974
2.1944 To 1974
3. 1940 To 1974

4. 1944 To 1971

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307219489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ I8 Hifseh Worel, el &R Al A W e ot g fobd oW b ol S H o

1. 1946 9 1974
2. 1944 9 1974
3. 1940 9 1974
11944 1971

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307219490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The profit volume ratio of a company is 50% and the margin of safety is 40%. Calculate net-
profit if the sales volume is T 1,00,000.

1. 10,000
2. 18,000
3.20,000
4.25,000

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307219490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foh it Ul T T BRI 50% SR GRET T T 40% 81 5 1 1 TR i
AT A1 2 1,00,000 5

1. 10,000
2. 18,000
3.20,000
4.25,000

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Revenue from sale of products. ordinarily is reported as part of the earning in the period when :

. The sale is made

2. The cash is collected

3. The produets are manufactured
4. The profit is computed

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307219491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

JTGH B ot T M1 Iy o @i H 3ol & 41T o ¥4 H Hfdafed a1 Sl 6:
. 99 f@l DI IR g

), T8 I HS Yabferd fehdT ol ¢
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Options:
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correct to compute Labour Mix Variance (LMV)?

1. LMV = Actual rate (Revised Std. time-Actual time)
2. LMV = Actual time (Std. Rate-Actual rate)

3. LMV = Std. Rate (Revised Std. time - Actual time)
4. LMV = Std. time (Actual rate - Std. Rate)

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 THSUT TR (UAUHdT) &1 TUMHT & folt [FfiRad § 9 i 9d g 2
|. TUHG! = IRdfdd &2 (H2NiEd 3 9HY - Ididd 999)
2. TAUHd] = dRdfdd 999 (AP <X - TP &)

3. TAUHAT = AF® &2 (GT8d AFS IAY - adidd 9HY)

4. TAUHA! = HHd YAY (dRdIdd &R - AFG &X)

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Calculate Debt Service coverage ratio from the following data

Net profit before interest and Tax T 50,000

10% Debenture (payable in 10vears in equal instalments) ¥ 1,00,000
Tax rate is 50%

13127

]
[
=]
ot |

4.2.67

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafclRgd STer 9 01 dT =816 3UTd &I TUHE 63
7ol 3R X Ud g 1Y 50,000

10% FUYH (THH [H=dl H 10 991 H €3) 1.00,000 TUT
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l.- 127

]
[
=]
ot |

4. 2.67

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following section of Companies Act, 2013 deals with amalgamation, absorption and
reconstruction?

1. Section 139
2. Section 219
3. Section 319

4, Section 391

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%iﬁtl?ﬁd{fﬁﬁﬂﬂ 2013 I FcRad T 9 B Gt YRT SwHEH, e 3R THie d dalfid

1. URT 139
2. YR1219
3. URI319

4. 4RI 391
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A company has Return on Assets (ROA) of 10% and profit margin of 2%. Compute the total

assets turnover.

4. 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219495 Question Type : MCQ Option Shuffling : No

{7 TRl W A (3R 3MTT) 10% U Y Al 2% 1 el URguf

TR (GO Bl 70T 63|

1.2.5%

3.1.5%

4. 10%
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219496 Question Type : MCQ Option Shuffling : No



Which of the following is not a feature of capitalist economy?

1. Right of private property

(i)

. Freedom of choice to consumers

(el

. Government Interference
4. High level of competition

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad ¥ 9 o1l yuilard] srieqawr &l f[axivdr =gl g2
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 IUHIEI gR1 994 B WaAd]
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The supply function is given as q = - 100+10p. Find the elasticity of supply (Es) using point
method, when price is T 13,

l.Es=2
2.Es=3
3.Es=35
4.Es=4

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIYf Ba q =- 100+10p B B0 T Yed 1578 Tcg 15 TU ', fdg faféy ol i i gU
HYfd Pt criieral (Es) Jd i

I Es=2
2.F8=3
3. EE=5%5

4. Es=4
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The price of one kg of tea is T 30. At this price T 5 kg of tea is demanded. If the price of coffee
rises from ¥ 25 to T 33 per kg, the quantity demanded of tea rises from 3 kg to 8 kg. Find the
cross price elasticity of tea.

1.(+)0.5
2.(H) 1.0
3.(H) 15

4.(-) 1.8

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U fobeil 91 1 e 30 U 81 8 Gl W 5 febel a1 wiel el 1 i it o e Wit
el 25 UL Y TG 35 UL Hfclidoeil 9 SiTd g dl AN W arcit 31 i A s fopedl
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1.(+)0.5

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Dividend Growth Model, the cost of Equity 1s equal to :

1. Retained Earning + Dividend yield

[-2

. Dividend vield + Expected Growth in Dividend
3. Retained Earning + Expected Growth in Dividend
4. Dividend vield + Intrinsic value

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307219499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR Hqig ATed & AR, YT (3@ dl) Sl drTd {hud I9dd 8 -
1. TR 3o + AT Ui

2. AU UfThd + A4 § Ui 9is
3. TR 35l + YT § g2 gfe

4. TIYIR Ui + 3idyd e

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The management of Vibgyor Fabrics subscribes to the NOI approach and believes that its cost of
debt and overall cost of capital will remain at 9% and 12% respectively. If the debt-equity ratio is
0.8, what is the cost of equity?

1. 164%
2.12.4%
3. 144%

4.8.12%
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG ThfSIey o it THSMIaMS 3 1 WoughTgel el / ST € el fare vl €
foh P! U AT SR TGN 1 Ul T T 9% IR 12% Tt Fafe, 501 - Fll ST
0.8 . 1 T I I AT g

1. 16.4%
2.12.4%
3.14.4%

4.8.12%

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to Proposition IT of Modigliani-Miller theory of capital structure, which of the
following statement is true?

. Financial Leverage has no effect on the wealth of shareholders.
2. Financial Leverage increases with wealth of shareholders.
3. Rate of return expected by shareholders increases with the increase in equity financing.

4. Rate of return expected by shareholders increases with financial leverage.

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the valuation formula based on the Walter's model if
P: Price per equity share

D: Dividend per share

E: Earnings per share

r: Rate of return on investment

k: Cost of equity

R s D+(E-k)/r
r
2.p= E+-[D-- E]rﬁk
k
3.p D+(E-D)r/k
k
4 pa E+(E-D)r/k
k
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dlee’ AlSd W ATYUIRT Jedidh I3 A1 8. UlG
P: Ufd TdT 3= g™

D: Ul 31 ArHigr

E: Ufd 3737 35

r: 9% R Uldwd &

k: GHAT &1 ANTd

D+(E-k)/r

r

E+(D-E)r/k
k

(]

|P=

- D+(E-D)r/k
- k

(]

b E+(E-D)r/k
- k

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307219503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the dividend per share of Rohtas Industries for the year 2024 given the following
information about the company ?

EPS for 2024 =33

DPS for 2023 =212

Target Payout Ratio =2 0.6

Adjustment Rate = 0.7

. TL8

g}

. 11.62
% Tl
4. 21.72

Options :
1.1



2.2
3.3
4.4

Question Number : 70 Question Id : 53307219503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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PG

2024 B UIHTE =23

2023 H U Sty =212

T T 40 =206

THANH R = 207

118

2. 7162

3. 7152

4. T1.72

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307219504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the pre-condition for applying Chi-square test?

1. Data should not be presented in percentage or ratio form.

[

. The sample should consists of at least 100 observations.

LS

. The sample should not be drawn randomly.
4. All the individual observations in a sample should not be independent.

Options :
1.1
2.2



3.3
4.4

Question Number : 71 Question Id : 53307219504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307219505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A firm wants to launch a new brand of television and refrigerator. The firm conducted a survey
and found that 60% of the households have television, 65% have a refrigerator and 35%. both a

television and a refrigerator. If a household is randomly selected, what is the probability that the
household has either a television or refrigerator?

1.0.70
2.0.90
3.0.80

4.0.60

Options:
1.1
2.2
3.3
4.4



Question Number : 72 Question Id : 53307219505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U S Cilidei 3R BTN &1 M 1S did 1 agal 6| BH A Gaam b iR
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1.0.70

2.0.90
3.0.80

4.0.60

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the number of trials (n) is large but the probability of success (p) is small. Bionomial
probability distribution can be approximated using:

1. Normal Distribution
2. Hypergeometric Distribution
3. Poisson Distribution

4. Bernoulli Distribution

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307219506 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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1. AR feR
2. IR Wi fdeRT

3. T GH faeRT
4, STl AR

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The distribution of data which has a long left tail is known as:

1. Positively skewed distribution

[

. Negitively skewed distribution
3. Symmetrical distribution

4, Mesokurtic distribution
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 75 Question Id : 53307219508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Assessment made not only from inside the company but from groups outside the organisation is
known as:

. 360 - Degree Feedback
2. 720 - Degree Feedback
3. Performance Appaisal

4. MBO

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 360 feTt wfagf®
2. 720 {3 wicgf®
3. FTTe T e

4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of an organisation, the process of making subordinates to act in a desired manner to
achieve certain organisational goals is known as:

1. Employee participation
2. Co-partnership
3. Affiliation

4. Motivation

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. el
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following means management should promote a team-spirit of unity and harmony
among employees?

. Unity of Command
2. Unity of Direction
3. Scalar chain

4. Espirit De Corps

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307219510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. TG Bl Thdl
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3. ! 4
4. GEUM B Wi

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which organisational structure promotes control and co-ordination within a department because
of similarity in the tasks being performed?

1. Divisional Structure
2. Functional Structure
3. Formal Structure

4. Matrix Structure

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 79 Question Id : 53307219512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Matrix organisation violates which of the following management principles?

1. Span of Management
2. Scalar Chain
3. Unity of Direction

4. Unity of Command

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(]

Question Number : 80 Question Id : 53307219513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An appeal that elaborate on a non-product related benefit or image and attempts to induce
emotional responses from consumers is called:

L. Physiological Appeals
2. Informational Appeal
3. Sociological Appeal

4. Transformational Appeal

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307219513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. G 3t
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4, FURUGR] 3fUid

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Nicosia Model of consumer behaviour is divided into four major fields, which of the following is
the third field under this model?

1. Feedback
2. Act of purchase
3. Firm's and consumer's attributes

4. Search and evaluation

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Providing a total package of related goods and services to solve a customer's needs is called:

I. Complete Selling

2. Conglomerate Selling
3. Wholesale Selling

4. Systems Selling

Options:
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A company prices one litre bottle of its mineral water at T 20/- but 100 ml of the same water in a
moisturizer spray for T 50/-. This is an example of which one of the following pricing practices?

. Customer-Segment Pricing
2. Image Pricing
3. Product-form Pricing

4. Mark-up Pricing

Options:
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307219516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The authentication to be affected by use of asymmetric crypto system and hash function is known
as:

I. E-commerce
2. Virtual signature
3. Digital signature

4. E-verification

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the privilege of a holder in due course?

1. The right to cancel the instrument at any time.

b3

. Instrument cleansing of all defects.

(]

. Exemption from legal obligations.

4. Unrestricted transfer of the instrument.
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Fiduciary relationship" is a relationship based on:

1. Legal obligations

3

. Absolute trust and reliance
3. Trade relation
4. Monetary benefits

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 87 Question Id : 53307219520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the time limit within which an information is to be provided regarding the life and
liberty of a person under RTI Act, 20037

1. 30 days
2. 60 days
3. 24 hours

4. 48 hours

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307219520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R3S ST, 2005 o i bl et b Sl T SR ¥ b Wty H G Fel
O P -GG 2

130 e
2. 60 &
3.24¢
4,48 9¢

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the most frequently held meeting of a company?

1. Statutory Meeting

[

. Annual General Meeting

el

. Class Meeting
4. Director's Meeting

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gfefed H 8 oI b ot o bt ol aiftich / S SMaiford & W delt g 6 2
19U 96
2. I FHA doH
3. 91 (qAY) 46
R CALIELE

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Compute the tax liability under default tax regime of Mr. X (35 year), having total income of ¥
51,75,000 for the assessment year 2024-25. Assume that his total income comprises salary,
income from house property and interest on fixed deposit:

1. 13,75,000
2. 13,77,750
3. 14,30,000

4. 14,75,000
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 13,75,000
2.13,77,750
3. 14,30,000

4. 14,75,000

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tax planning strategies used by multinational enterprises that exploit gaps and mismatches in
tax rules to avoid paying tax is known as;

1. AEPS
2. BEPS
3.EBPS

4. CEPS

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AEPS
2. BEPS
3.EBPS

4. CEPS
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307219524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following strategic decisions in international business in proper sequence.

A. Market Selection Decision

B. International Business Decision

C. Entry and Operating Decision

D. International organisation & HR Decisions
E. Marketing Mix Decision

Choose the correct answer from the options given below:
l.A,B.C,D.E
i BEED
3. BACED
4B, C,AJE,D

Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 53307219524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. UdY 3R YdTeH g

D. S{RIFTE Y3 3R TIR 01
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1.A,B,C,D.E

2.A,B,CED
3. BACED

4.B,C,AE.D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307219525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following stages of investigation in proper sequence.

A. Plan work to be done and timing.

B. Obtain instructions from the client and prepare terms of reference.
C. Make necessary calculation to eliminate inconsistencies.

D. Collect necessary information and documents.

E. Formulate conclusions/ analysis of findings.

Choose the correct answer from the options given below:

1. A,B,C,D,E

I3

A CB B E
3B AR
4. A BB CE

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307219525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of Capital Budgeting Process in correct sequence.

A. Preparation of Capital Budget and Appropriation
B. Performance Review

C. Assembling of Investment proposals

D. Identification of Investment opportunities

E. Decision Making

Choose the correct answer from the options given below:

LEBC. EAB

b3

8GR B E

e

;B B BB
4.8, D, C, E;A

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LB CE E.A B

(]

A BE

[

A DCBE

4 B.D,C.E A
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307219527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of research process in the correct logical order.

A. Formulate a research question
B. Literature review

C. Collect data

D. Develop a research plan

E. Interpret the result

Choose the correct answer from the options given below:

l. BADCE

(o

e B EECUE

5]

A G BAE

4. B, A, C, D, E



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307219527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I. B;A D, CE

[

A.B.DCE

[F5]

AC. D BB

4. B.ALC, D E
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307219528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of sampling design process in correct order.

A. Sampling frame must be determined

B. Target population should be defined according to objective

C. Sampling process must be effectively executed

D. Selecting a sampling technique

E. Number of elements to be included in the study must be carefully determined.

Choose the correct answer from the options given below:

1.B.D.E,C,A
2.8 B/D.E.C
3.A,C,B,D,E
4.B,A,D,E,C

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307219528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Determine the correct sequence of the steps involved in the process of hypothesis testing

A. Setting the null and alternative hypothesis
B. Setting the level of significance

C. Determining the appropriate statistical test
D. Setting the decision rule

E. Analysing the collected data

Choose the correct answer from the options given below:
. BLA.C,D.E
2B.CADE
LACB.D.E
4. AB,C.DE

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. B,A,C.DLE

(]

B, CADE

[

_A,C,B,D,E

4.0 B, B E
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of securitisation in a correct sequence.

A. Forming SPV

B. Transfer to SPV

C. Credit Enhancement
D. Seasoning

E. Issuance of securities

Choose the correct answer from the options given below:

1.A,B,C,D,E

(]

B,C.AD.E

5]

D, CARBE

4.D,C,B,AE



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.D,C,B,AE
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following anti-dumping process in proper sequence.

A. Initiation

B. Preliminary screening

C. Rejection under deminimis, unsubstantiated information ete.
D. Exporting country allowed to modify practice.

E. Preliminary findings followed by final finding and measures.

Choose the correct answer from the options given below:

1. B C A E

(o

A B, DL E

5]

By A L E
4.B. C.AE.D

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps involved in the process of IPO issue in correct order.

A. Verification by SEBI
B. Hiring an under writer
C. Registration for IPO
D. Pricing of IPO

E. Allotment of shares

Choose the correct answer from the options given below:
1.A,C,D,B.E
2.A,D,C,B,E
3.8, C; 1L AE
4.B,C,A,D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A C, D, B, E

(]

.A,D,C,B,E

L

B, C,D,ALE

4.B.C,A,D.E
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307219533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following new product planning process in proper sequence.

A. Idea screening

B. Idea generation

C. Concept Development and testing
D. Market strategy development

E. Business Analysis

Choose the correct answer from the options given below:

1.A,B,C,D,E

I3

B ACDE
3.48,B,CE D

4.E,D,B,A,C



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307219533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.B.ACDE
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4. E;D. B AT
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following process of incorporation of a new LLP in proper sequence.

A. Reserve LLP name

B. Procure Digital Signature Certificate

C. Prepare documents for incorporation of LLP
D. LLP incorporation and DIN Application

E. Drafting and Filling LLP Agreement

F. Apply for PAN and TAN

Choose the correct answer from the options given below:

A B:CIEE
2:B;A, D LC.EF
3. B, A C,D,EE

4.A,B,C,D,E,F

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B CDEE

2B A B CEF
3.B,ACD,EE

4.A,B,C,D,EF

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The liquidator after realizing the assets of the company should distribute the proceeds among
below mentioned claimants in which order?

A. Liquidator's remuneration and cost of expenses of winding up.
B. Legal charges

C. Claims of secured creditors

D. Preferential creditors and creditors secured by floating charges
E. Unsecured creditors

Choose the correct answer from the options given below:

l.A,B,C,D.E
2.BACDE
3.B,C,ADE

4. A,C,B,E,D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I.AB,C.D,E

2.BACD.E
3B, EADE

4.A,C,B,E,D

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307219536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the online registration process of a new private limited company in proper sequence.

A. Select and Reserve Company Name

B. Acquire DIN & DSC of promoters

C. Draft Memorandum and Articles of Association
D. Get Company Registration Certificate

E. File SPICE+ Applicaiton

Choose the correct answer from the options given below:
1A BCEID
2AB.ED.C
3.B.ACE.D
4.BACIDE

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307219536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.A,B,C.E,D
2.A,B,E;D.C
3B ACED

4.B,A,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following forums in correct sequence of first appeal to final appeal by an assessee
under Income Tax Act-1961

A. Supreme Court

B. High Court

C. Appellate Tribunal
D. Joint Commissioner

Choose the correct answer from the options given below:
1.LABCD
2.D,C,B,A
3.B.D.AC
4.C,AD,B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I.LAB,C.D

2.D,C,B,A
3.B,D,A,C

4.C,A,D,B



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following phases of International Monetary System in chronological order (old to
new).

A. Gold Bullion Standard
B. Gold Specie Standard

C. Floating Exchange Rate
D. Gold Exchange Standard
E. Bretton Woods System

Choose the correct answer from the options given below:

1L ABEDC
2.ADECB
3.B,AD,EC

4.B.D.A.C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SRV i YorTell b FgfeifRad <RUI 1 STTpHIER (G 8 7T) @y e

A, WU e THH

B. W01 Wl (1) 7S
C. @ad faf i ex

D. WUl a7 WS

E. e 44 Ul

i iU U fadhed! § ¥ 5T SR 1 909 BT

I A B B Bt
ZABECHE
3. BADEC

4B.DACE

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307219539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are included under EPRG framework of internationalisation?

A. Eco centrism
B. Ethno centrism
C. Poly centrism
D. Regio centrism
E. Geo centrism

Choose the correct answer from the options given below:

.B,C,D & E Ounly
2.A.B,C & E Only
3.A,C,D &E Only

4.A,B,D & E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307219539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fraferiad # 9 S ARPTISR Bf SRS 0 7 Fffd § 2

A. JAIaR0] S5l
B. Jollfd =i
C. Sgbiegdl
D. &5 [l
E. Yb-41Td
-id fGu U f9detl § U T3 I &1 98- SIfC:

1. $hdd B, C,D 3R E
2. Hdd A, B, C 3R E
3. HAd A, C,D 3R E
4. HdA A.B.D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307219540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are included in Foreign Direct Investment?

A. Wholly owned subsidiary
B. Joint venture

C. Investment in GDR

D. Acquisition

E. Investment by FIIs

Choose the correct answer from the options given below:

1. A & B Only

(]

.B, C & D Only

5]

.C.D & E Only
4. A, B & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307219540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad 7 9 o ¥ e fae=i fawr d affid g 2

A. YUl Wi dreil 3T ghreal
B. Ugdd 3eH

C. SieleR d a9

D. HfERIg

E. Th3MTg3MTs gRT Fdw

- feu T fadetl § ¥ 8T IR B 90 DI
1. had A 3R B

Had B, C 3R D

P C,D3RE

4. PHdd A, B3R D

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307219541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the benefits of globalisation?

A. Increase in competition would make companies more cost & quality conscious and
innovative.

B. An open economy spurs innovation with fresh ideas from abroad.

C. Liberalisation & global competition enhances consumer choice and consumer surplus.

D. Developing countries could be very vulnerable to the harmful effects of globalisation.

E. Globalisation opens up enormous domestic and global opportunities for firms in developing
countries.

Choose the correct answer from the options given below:
[.A.B,C&DOuly
2.C,D &E Only
3.B,C,D&E Only
4.A,B,C&E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307219541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fofiad H Y B U diau & T &

A. Wicrg el 7 9 9 Tl T 3R R o Wil S Gaesiial gl T iy
B. U6 e Sea facait § i faaRi & 91 a8 &1 gefel ¢ |

C. JERIBR 3R dfye Hicrg el JUMTart fadhied 3R Jqiar iR 4 9 dedl g

D. faTrSiicl 1 ienl o PR HiTdl b Wi i g &1 9 gl

E. il fadreiicl <21t H dhufal o foru fomTmel o 3R dfid SfawR Sucs Fidl ¢

i feu U fadhedi 1 O 75T IR 61 T PIC
1. B A, B, C 3R D
2. A C, D AR E
3. $90B,C.D IRE
4. B A, B, C IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are different types of dumping?

A. Persistent dumping
B. Predatorv dumping
C. Sporadic dumping
D. Nomadic dumping

Choose the correct answer from the options given below:
1. A & B Only

2. A, B & C Only

(5]

.B & C Only

4.C & D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfRad | 9 Y gred (S & A UeR ¢ 2

A, FRAT greq
B. d3d Uled
c. f&scge ured
D. YHURI gred

I feu U fad el § U T 3R &1 994 DIfSIU:
|. Hadd A 3R B

2. Had A, B3R C
3. hadd B AR C
4. ®Hdd C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307219543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following capital budgeting Techniques follows the discounting criteria?

A. Net Present Value

B. Benefit- cost Ratio

C. Accounting Rate of Return
D. Internal Rate of Return

E. Payback Period

Choose the correct answer from the options given below:

. A, B.C,DOnly
2.B.C,D Only
3.A,B.D Only
4.A,C,D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307219543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad | 9 Sl Yol deic Tl d2IHRul HIUES & R0 bl g 2
A. IS 9dHH 4l
B. Y - AT 3FIUTd
C. TP Uidhd &°
D. AP Adhd X
E.@W{ﬁ-@ﬂﬂﬁfﬁ
fd feu U fadetl § T F67 IR &I 744 SIT:
. Hdd A, C,D IRE
2. Hdd B, C 3R D
3.$Hdd A, BAHRD

4. Had A, C IR D




Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the rights of the equity shareholders?

A. Right to Income

B. Right to claim Dividend
C. Right to Control

D. Right to Liquidation

E. Pre-emptive Rights

Choose the correct answer from the options given below:

1A BC D&EE

b3

.B, C & E Only
3.A B, C &DOnly
4. A,C,D & E Ounly

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAfeIRad H O 19 GHAT 3RURGI & ATYBR g2

A. 3G BT HYPR

B. CITHIRI &A1 A &l AYBR
c. A &1 3fgdR

D. URYATH &1 AHfIDR

E. Rfaaqd sfitdr

A1 feu U fad el § 9 ggT SR &l 98- BIfSIT:
1.A,B,C,D3RE

$HddB,C AR E

$HddA.B.C 3R D

4. HAd A, C,D 3R E

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 112 Question Id : 53307219545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the assumption underlying MM Theory of capital structure?

A. Perfect capital Market
B. Hetrogeneous Expectations
C. Absence of Taxes
D. 100% Dividend Payout
E. Equivalent Risk Class
Choose the correct answer from the options given below:
I.A,C,&EOnly
2.B,C & E Only
3.A.B.C & D Only

4.B,C,D & E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307219545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiad & 9 S8 gl 931 & TIud gid & sideld gduRome ¢ 2
A. 70 US1 §T6IR

B. f[q9IR=1 U=y

C. BRI Bl STRYT

D. 100% ST YT

E. Gadd! SRy aif

=i fau U f9dedl § ¥ T IR &l 99+ DI
1. $had A, C, IRE

2. Hdd B, C AR E
3. Hdd A, B, C 3R D
4. $9d B, C.D IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307219546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about chi-square test and chi-square distribution?

A. Chi-square test is a non-parametric test.

B. Chi-square test was developed by spearman.

C. Chi-square distribution can never be negative.

D. Chi-square distribution is a discrete distribution.

E. Chi-square distribution is a function of its degree of freedom.

Choose the correct answer from the options given below:

1.B.C & D Only
2.A.C&EOnly
3.A,B&D Only
4.B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307219546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT5 - a1 TG 3R BT - 11 [der0l & g H Fgfaiad § 4 dHY $u7 9d g 2

A. BTS - T TRI&0 TH IR - AHES Wigm gl

B. $ls - 47 UR1&I0] WiERHH R [y fobam o
C. TS - T AR B BUTHS Tg! &l Il ¢

D. Bl - 41 fdeR U Ud 3dd [deRU gl

E. BT5 - ¥ [GRUT {01 TacAd bl fS91 1 HiaH g |

d feu e fddetl © 4 78 TR &1 904 DifC:
1. Hdd B,C AR D

2. hdd A, C ARE
3. Had A, B 3R D
4. $9d B, D 3R E



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From the following identify the measures of dispersion

A. Mean Deviation

B. Range

C. Standard Deviation

D. Coefticient of Variation
E. Coefficient of Correlation

Choose the correct answer from the options given below:

1.B,C,D & E Only

b3

.A,B,D & E Only
3.A,C,D & E Only
4.A,B,C & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FrafeiRad | U IR (fGdq) & °1Yf & UgdH B |

A, 71 fageH
B. IR
C. % fadeH

D. UERU &1 9gulidh
E. 9g4dY &I gD

A feu U {96 edl § 9 §g7 IR BT 99 DIfSIT:
|.Hdd B, C,D 3RE

$Hdd A, B, D HRE

$HId A, C.D 3RE

4. Hdd A, B, C IR D

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 115 Question Id : 53307219548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In case of performance appraisal, an assessment should focus on:

A. Technology to intervene between appraiser and appraisee.
B. Individual traits

C. Behaviours exhibited by the assesses

D. Knowledge/ skills possessed

E. Results achieved

Choose the correct answer from the options given below:

1.A B, C &DOnly

(o

.A,B, & C Only

5]

.B.C & D Only

4.B,C,D & E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307219548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frsaTe gegicd @1 fRUfd 1 Gedic $f FefaRdd R $i<d g 91t

A. RS 3R FuiRdt & dfd a8y & fou uiepfiet
B. fGdTd U

c. FuiRiaal gr1 ueiRid agr

D. YIRd I / BIA

E. Ut OROMH

Hid feu U fadhedl § U §8T IR &1 999 HifIU:
1.hdd A, B, C IR D

2. Hdd A. B3R C
3. Had B, C 3R D
4 $AdB.C.D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307219549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the schemes promoted by NABARD?

A. Kisan Credit Card (KCC)

B. Capital Investment Subsidy Scheme
C. Special Economic Zone Scheme

D. Rural Innovation Fund

E. Tribal Development Fund

Choose the correct answer from the options given below:

1.A B, C &DOnly

(]

.B.C.D & E Only

5]

.A,B,D & E Only
4.A,C,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307219549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad # 9 I 1e1s gR1 uafdd aeATg g 2

A. THuH $ise &1s (ha)
B. Uil (42 Gfeq ST aisH1
c. a3 3l &= gie

D. JTHIU Fa-HY e

E. SHaald fadrg fAfd

- feu T fadetl § ¥ 8T IR B 90 DI
1.Pdd A, B, C 3R D

$HddB.C,D3RE

. Hdd A, B, D 3RE

4. DA A, C, D 3RE

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307219550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the participants in T-Bills Market?

A. Reserve Bank of India
B. Commercial Banks

C. Foreign Banks

D. Provident Funds

E. Corporates

Choose the correct answer from the options given below:

1.B,C,D & E Only

b3

.A,B,C & E Only
3.A,B,D & E Only
4. 8B, C.D&E

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307219550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FfRad # ¥ ®H Ioa N [9uF 99k # 4RflGR § 2
A. HRJ Rod d&

B. AIUIfI® dF
c.f[acel d&
D. Hideg fAfeT
E. HRUNCT
I U U fowedl § ¥ ggt 3R & 994 B
|.HddB.C.D 3R E
HAd A, B.C 3R E

Hdd A.B.D 3R E

(]

(]

4.A.B,C.D3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307219551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the principal functions of UNCTAD?

A. To promote International trade with a view to accelerating economic development.

B. To assist economic development of developing countries by promoting private enterprises.
C. To negotiate multinational trade agreements.

D. To make proposals for putting its principles and policies into effect.

Choose the correct answer from the options given below:
[.A,B&COnly
2.B,C& D Only
3.A.B&D Only

4.A,C &D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307219551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiad O 9 B 3idhers (UNCTAD) & R Bl § 2

A, 3T [T 9 B 2P Y SRV UR Bl Ig

B, orolt SeTvll &) e S Tl St & onfifep e & e et
C. TGP SATUR W R fawel e

D. T il 3R el @1 wuTaeie e & fofu T s

Hid feu e fddetl 4 ¥ T3t S &1 98 I
1. had A, B IR C

2. HddB,C IR D
3. Hadd A, B3IRD
4. HIA A, CARD

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307219552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the price-adaption strategies?

A. Price discounts and allowances
B. Target return pricing

C. Geographical pricing

D. Differentiated pricing

E. Going rate pricing

Choose the correct answer from the options given below:

1. A, C & E Ounly

(]

.B, C & D Only

5]

A, C & D Only
4. A, B & D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307219552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaldd d 9 o4 4ol - 3qba- IUHITET g2

A. T §¢ 3R U
B. A& Ufdhd Hcd-
C. YITieid ed-
D. faudidd gead
E. THIAId &R JIH
4 AT MU 9 el & 9 FgT SR b1 98 BHIfSIT:

1.Pdd A, C 3R E
Had B, C 3R D
. HAd A, C 3R D
4. PHdd A, B3R D

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219553 Question Type : MCQ Option Shuffling : No

Transmission of shares is effected by which of the following?

A, Sale

B. Death

C. Insolvency
D. Maturity

Choose the correct answer from the options given below:

1. A & B Only

I3

. A & C Only

LS

.B & D Ouly

4.B & C Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219553 Question Type : MCQ Option Shuffling : No



320 DT 3R fbYdh GRT UHIGRIA I & 2

A. fdpl

B. 44

c. faardr
D. URO&dl

A fGu e fasel & 9 HgT IR D1 9G1 BT
1. hdd A 3R B

Had AR C

3.$adB 3R D

4. HAdB AR C

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 121 Question Id : 53307219554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can file a petition for winding up of a company?

A. Shareholders

B. The creditor or prospective creditors

C. The legal heirs

D. The person authorised by the central government

Choose the correct answer from the options given below:

1.A, B & C Only

[-2

.B. C & D Only

T

.A.C & D Only

4. A, B & D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafefad 8 9 oF fod Ul & INTHTE $f IS SR & 96d § 2

A. IYRD

B. TGR 41 YHIfdd d-GR

c. faftre ISR

D. $E1 WHR GRI UEdhd Sl

14 G0 U f[ddhetl © U 3T 3R &1 99 DI
1. Hdd A, B 3IRC

2. $dd B, C AR D
3. BAd A, C 3R D
4. Had A BIRD

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307219555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The general consideration applicable to tax planning in the field of business deduction revolve
around which of the following?

A. Allowability

B. Year of allowability

C. Extent of allowability

D. Carry forward to future years

Choose the correct answer from the options given below:
l. A& B Only
2.A& COnly
3.A,B & COnly
4 AB.C&D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307219555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AqUIAS deldl & dae H B Qo1 FgfeiRad # U g R AR BT g 2

A. WG

B. WG & 9y

C. WG o1 fawdr / 1 1
D. FTHI auf | o ST/ U0

i flGu U fadhedl H U g7 3R &1 994 HIU:
1. $dd A 3R B 3R

2. HIdAARC
3. Bdd A B3R C

4.A.B.C3R D



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307219556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sections of the Income-Tax ACT- 1961, provide for double taxation relief
in India?

A, Section- 89
B. Section- 90
C. Section- 91
D. Section- 92
E. Section- 93

Choose the correct answer from the options given below:

I.A& B Only
2.B & C Only
3.C&D Only

4.A,B &E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307219556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ISR AT 1961 P FHufciad H U I 4RI HRA H algy HUYH U d el 8

A. HRT 89
B. 4RT90
C. U191
D. HRT92
E. YR193

rd few U fodedl o ¥ WeT IR &1 T DI
. 3 A AR B
2. Bad B AR C
3. 690 C 3R D
4 9T A, BINE

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is/are included in salary as per section- 17 of Income Tax Act 19617

A. Wages

B. Perquisite

C. Profits in lieu of salary

D. Compensation on termination of employment

Choose the correct answer from the options given below:
[. A& B Only
2.B & C Only
3.A.B & C Only

4.A,B.C&D

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR ST 1961 P YR DT 4RI - 17 ¢ B TR HGHciRad & & o1 oo o 9o § 0
PRE R

B. 4
C.dH e Hay

D. ISR T R &ffcfe
1d fu e fadedl # U T8t S &1 98 ST
| Hdd A IR B

2. $adB AR C

3. $dqA,BINC

4 A.B.CIRD

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307219558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tax treaties are generally based on which of the following convention?

A. OECD Model Tax Convention
B. UN Model Tax Convention

C. WTO Model Tax Convention
D. IMF Model Tax Convention

Choose the correct answer from the options given below:

. A & Bonly

[-2

A& Conly
3.B & D only

4.A.B & C only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307219558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B Gt g1y FgfaRad | 9 fo= fHaaal o 1emid g2
A. OECD HISd & YHaH
B. UN HISd B YHH

C. WTO HiSd & gHaH
D. IMF HI3d &% I8

A fGu e fadetl & 9§ HgT IR D1 9G1 BISIT:
1. hdd A 3R B

HAd A AR C

3.HadB 3R D

4. HAdA, B3R C

Options :

(o



1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307219559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
. . E D
A | Capital Asset Pricing Model E == t==Th (] - TC )
V V
B. | Gordon Model 1. [Rg =R¢ +[3]:'[RM —Rr)

E
C. | Weighted Average Cost of Capital | IIL. |P = m ( D+ 5

E,(1-b)
k —br

D. | Traditional Model VP, =

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II. D-III

I3

AL BIIL C-L D-IV

fad

AL B-IL C-IIL D-IV

4. A-11, B-1V, C-1, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307219559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

g1 T I
— N} E D ,
A |YSit o gegaHIgd | L ?}’u"'?’:'u(]"rc)
B. e Oied 1. |Rg =R¢ +Pg (Ry —Ry)
C. |doit @t yifikg sirga anTa | I P:m([)+§]
N , E,(1-b)
D. |UARTE Alsd V. |Py =——~
k—br
A fou U fad el § U gt 3R &l 994 SIS

1. A-IV, B-1, C-II, D-III

[

. A-II, B-TII. C-I, D-IV
3. A-I. B-IL, C-III, D-IV
4. A-11, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307219560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A |Joint occurance of Events L Cu_llecm'e EEharEliye
Events
B. |Outcome of an experiment consisting of all possible events [I. |Equally likely Events

C One of the events can not be expected to occur in preference over

| the other III. | Compound Event

D. | The occurance of one event implies that the other can not occur IV. | Mutually Exclusive Events

Choose the correct answer from the options given below:
[. A-IIL, B-IL C-11, D-IV
2. A-IV.B-II, C-I. D-III
3 AL BILCL DIV
4. A-L B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307219560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

1 T
A |Teef & 9w TU E gl gHl L wﬂiﬁaiw
B. | gt S gerad @ vor o1 uioE I | GAH TYIfad ges
| Teme | @ forell U ot ot o W R fima A ufed g 3 5
& @1 YT T gl Gdhe 8| L. | e
D. | e U & UROTH &1 34 2, 0 e T B Gl 2 IV, | RER 3 T
AT feU U fodedl 6 U gt I &1 99 B

L. A-IIL B-I, G-I, D-IV
2. A-IV,B-II, C-I, D-III
3. AL B-IL, C-1, D-IV

4. A-L, B-II, C-III, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A I”fmal : [ | Grouping of jobs of similar nature
organisation
B Formal I [nteraction among people at work gives rise to a network of social-
" | organisation " |relationship among emplovees

C. |Divistonal structure | III. | The organisation structure comprises separate business units

D Functional

; IV. | Specifies clearly the boundaries of authority and responstbility
structure

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. A-IL B-MII, C-1, D-IV
3. A-IL B-IV, C-TI1, D-I
4. A-IL B-IV, C-L, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

T T 11
j | L | GHH Vi & o a1 9

LUGE]
s et | o TR D e, A i v

C |y | 10 T3 ST ¥ gYd ag Seied Hid el 6!
D. | RIS W | IV | MRTRGT R STReTtw b S & @y FuRo avdi 8

AT feu e fadedl | U wgt IR 1 994 iU

L. A-IL B-III, C-IV, D-1I

2. AL BIL €, D-IV
3. AL BV, CIIL DI

4. A-IL, B-IV, C-I, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Organisational
A =

il 1 I |Refers to the delegation of authority throughout the organisation.
Structure 7 ;

B. |Span of Management | II |Groups activities on the basts of products.

C. |Divisional Structure I |Refers to the number of subordinates under a supervisor.

The framework within which managerai and operating tasks are

D. |Decentralisation Y
operated.

Choose the correct answer from the options given below:
[. A-L B-IT, C-1, D-IV
2. AL B-IL C-1, D-IV
3. A-IL B-IIL C-IV, D-I
4. A-IV, B-IIL, C-IL, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Al 18 1 Gt 11 1 e $ifoi
Ll I

oD W | 1 |76 5 DRI & fadbg o &l Taiid Hidl 8

WaeH a1 & I | 3Tl & SR W 5 Tafafiad

YA G | 1L |Toodt srefierd & sl SR 1 G @ Yalid Bl gl
ECEIGR IV, [0 o Sl Heed g 3R TEIeHI &1 i o B

Hd feU U fadeul | T gt ST &1 99 DI

l. AL B-IL C-II, D-IV

olo|w|s

2. A-IIL B-II, C-1, D-IV
3. A-IL B-III, C-1IV, D-1
4. A-IV, B-IL, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
A |Unity of Command| I | Maintaimning high morale among emplovees 1s imperative
B. |Unity of Direction | II. | Hierarchical, formalised communication channel
C. |Scalar Chain III. | Functions have only one plan and one boss
D. |Espirit de Corps IV. | Sub-ordinates reports to only one boss

Choose the correct answer from the options given below:
1. A-1, B-IL, C-III, D-IV
2. A-1, B-1V, C-II1, D-I
3. A-IV, B-III, C-II, D-I

4. A-IL, B-III. C-IV, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y GEl 11 6 e Bifoe

T T 10
A B Uhdl | 1 | Sl ¥ = qHiee 9910 W& AT o)
fGRn @i uddr | 1. |GaFe, iuaie gaiw 99a
g g@e | 1L | Sl &1 U T 3R U6 gRar aidi e
YO &1 YiEA! | IV | 3= us giaar &f U &3d €

i 13U U f[ddh el H U Igt 3R &1 994 SIS

1. A-L, B-II, C-IIL, D-IV

olo|w|s

I3

.A-I, B-1V, C-III, D-IT
3. A-1V, B-III, C-II, D-1
4. A-II, B-II1, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Technique Description
A | Gordon Technique I. | Teaching the importance of resolving matters
B. |Morphological Analysis| II. | Insight into a given interaction
C. |Built-in- Tension III. | Listing of alternative solution to problems
D. |Manodrama IV | Steening a discussion to crystallise solutions

Choose the correct answer from the options given below:
1. A-L, B-I1, C-IIL D-1IV
2. A-II. B-1IL, C-I, D-IV
3. A-IIL B-1IV, C-11, D-I
4. A-IV, B-1II. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D WY Gt 11 BT T SIS UiRIeo &1 dh-idh

e b
A |TIEH dHTD L |\ GeisH & Hed gaH]
B. |fowuurerd faeiwor | 1. | fordt uew safdhar o faey
c. | a - - ffda 1L | g & dofcdd SHYH Jdigs el
D. |HHIfYg IV, | g1 Ui & fore g 1/ faqel e
i fqu U fadheti T 9 gt SR &1 99 DIfIT:

1. A-L, B-II, C-III, D-IV
2. A-IL B-III, C-1, D-IV
3. A-II, B-1IV, C-11, D-1

4. A-IV, B-1II, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Instruments Market
A |Forwards [ |Primary Market
B. |Certificate of Deposits | II. | Money Market
C. |FPO ITI. |Derrvative Market
D |IPO IV. | Stock Market

Choose the correct answer from the options given below:

1. A-I. B-III, C-II, D-IV
2. AL B-1V, C-1, D-III
3. A-1IV, B-1I, C-III, D-1
4. A-III, B-1I, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 I
JUBI] GIEIE
BRdS L |mufas 9eR

SHITHULE | I [qE1EeR
T 111 |Sfvafed IeiR
HTgtadl IV. | 2R ¥R

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-L B-III, C-II, D-IV

olafw|»

[

. A-IL B-1IV, C-I, D-III
3. A-IV, B-11, C-I1I, D-1

4. A-III, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Trader Function/ Activity
A |Hedger [ |Buving and selling shares quickly
B. |Speculator II. |Reducing investment Risk
C. |Arbitrageur III. | Taking increased Risk willingly
D. |Scalper IV. | Taking advantage of the mismatch of the prices in two marktes

Choose the correct answer from the options given below:
1. A-L B-II, C-III, D-IV
2. A-IL B-L, C-III, D-IV
3. A-IL B-III, C-IV, D-I
4. A-IIT, B-1V., C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

o L
A |ER L | e o=l &1 oy 3R [asy
B. |HdpeicR 1. | Faa wiifes &H B
c. |enfderfimr | 11 |3vean i wifem o
D. [FhaWR IV. | &l §eRT H 5edi o sitd SfaR @1 Ty oA
i feu U [9h el @ 9 gt SR &1 98- BT

1. A-I, B-II, C-III, D-IV
2. AL B-1, C-II1, D-IV
3. A-Il, B-1I1, C-1IV, D-1

4. A-IIL, B-IV, C-11, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219567 Question Type : MCQ Option Shuffling : No



Match the List-I with List-IT

LISTI LISTII
A | Transfer of ownership I. | Negotiable Instrument
B. |5ale of goodwill after dissolution| II. | Contract of Sale of Goods
C. | Buv back of shares III. | Dissolution of Partnership Firm
D. | Promissory Note IV. | Share Capital of Company

Choose the correct answer from the options given below:

1. A-II, B-1II, C-IV, D-1
2. A-1, B-1I, C-1II, D-IV
3. A-II. B-III. C-I, D-IV

4. A-1, B-1II, C-I1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307219567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A GEiRi
A |WflE &1 e I | TR 3uaR
B. |Taued & uyrqEfd &1 fasbl | I | 9%gail ol fashl &7 3 ey
c. | s & gy 111 | 9r=ieR] wH &1 fdged
D. |a/Egl e/ g4 IV. | U B 3= guil
Hid feu U fad el & U Iat 3R &l 994 HIfoe:

1. A-IT, B-III, C-1IV, D-I

[

. A-1, B-II, C-III, D-IV

5]

. A-II, B-TII, C-1, D-IV
4. A1 B-II C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
A | Personal selling I | Commercially significant news
B. | Advertising II. | Advertising within buses, railway compartments
C. | Transit advertising | III. | Non-personal communication
D. | Publicity IV. | Two way communication

Choose the correct answer from the options given below:
1. A1, B-II, CII, D-IV
2. A-IL, B-III, C-IV, D-I
3. A-I, B-III, C-II, D-IV

4. A-IV, B-IIL C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T I
Aiedd fawt | L | ariviegs Jeal THER
ICEILE] 1L |&9f ¥ fosat | faqme

ORI fagA | 11 | TR - qofdds 99
9K - TR Iv. | fg - 9rfl 9

i fou U fadhedl H T gt 3R &1 994 Hife:

1. A B-IL, C-III, D-IV

ololw|r

[

. A-II, B-III, C-IV, D-I

5]

. A-L, B-III, C-11, D-1IV
4. A-IV, B-II1, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307219569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTII
A |Buver's Mind [. |Members of Social-club
B. |Personal Factor II. | Motivation
C. |Psychological Factor | III. |Life Style
D. |Reference Group IV. |Black Box

Choose the correct answer from the options given below:
1. A-1, B-II, C-IIL, D-IV
2. A-II, B-III, C-1V, D-I
3. A-IIL B-IV. C-I, D-II

4. A-IV, B-III. C-I1., D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307219569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

L e I
shdl &I AT L |9 od & 9o
Afedd dRE | I | TR
Iy ® ®R® | OI. |Sia- [l
e ugg IV. | i alad

i fou U fadhedl H T gt 3R &1 994 Hife:

1. A B-IL, C-III, D-IV

ololw|r

[

. A-II, B-III, C-IV, D-I

5]

. A-IIT B-TV, C-1, D-1I
4. A-IV, B-II1, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307219570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Act/ Institution Year
A | Consumer Protection Act| [ |1964
B. |FEMA IT |1945
C. |IMF oI |1999
D. |UNCTAD V. |2019

Choose the correct answer from the options given below:

1. A-IV, B-1I1, C-II, D-I
2. A-II, B-1I1, C-1, D-IV
3. A-IIIL B-1IV, C-I1, D-1I

4. A-1, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307219570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

A =
A | Jusie TRew fdfTe | 1 | 1964
E. |FEMA II. 11945
C. | IMF III. | 1999
D. |UNCTAD V. 12019
A fau U fadeul H O gt 3R &1 994 i

1. A-IV, B-1I1, C-II, D-I

(i)

. A-II, B-TII, C-1, D-IV

(el

CA-IIL B-TIV, C-I1L, D-1
4. A-1, B-1I, C-III, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A |Rightto Safety 1 Con-.sumer_s _ha'\'e a right against the marketing ?f goods, products or
services which are hazardous to life & property.
B Right to be I Consumers have a right to know about the quality, quantity, potency, purity,
" |assured " | standard and price of goods or services.
C Right to be 1 Consumers have a right to be assured that their interest will recetve due
" | informed " | consideration at appropriate commission

; . | Consumer has the opportunuty to choose from a wide range of products at
D. |Rightto be heard | IV. pportuniy seotp
= reasonable rateg.

Choose the ecorrect answer from the options given below:
1. A-L, B-IV, C-IL D-III
2. A-IL B-IIL, C-1, D-IV
3. A-II, B-IT, C-1, D-IV
4. A-IV. B-IIL C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I B-IV, C-II, D-III
2. A-IL B-III, C-I, D-IV
3. A-IIL, B-IL, C-1, D-IV

4. A-IV, B-IL, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II
Match the offences and their corresponding penalties as per L.T. Act-2000.

LISTI LISTII

A Tampering with computer source I

: g :
| documents{Sects [mprisonment upto 2 years and or fine upto T 1 lakh

B. |Penalty for mis-representation (Sec.71) | 1L |Imprisonment upto 3 vears, or fine of ¥ 2 lakh or both

Penalty for Breach of confidentiality m Imprisonment upto 2 years or fine which may extend

5 and privacy (Sec.72) " | to one lakh rupees or with both.
Punishment for cyber terrorism ; : "I ;
D. (Sec.66F) IV, | Imprisonment extends to imprisonment for life

Choose the correct answer from the options given below:

1. A-L B-II, C-II1, D-IV
2. A-IL B-I, C-IV, D-III
3. A-IL B-IIL, C-1, D-IV

4. A-IIL B-IV, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. Al B-II, C-IIL, D-IV
2. A-IL B-L, G-IV, D-IIT
3. A-ILB-IL C-LD-IV

4 AL B-IV,C-I, DI

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
{Section) {Ceiling limit)
80-C [ 130,000
80-CCD (1) II. | 10% of salary or 20% of gross total income as per case

8§0-CCD (1B) | III. | 14% of salary
80- CCD (2) IV. | 1.50.000

oflafw|s

Choose the correct answer from the options given below:
1. A-L, B-II, C-IIL, D-IV
2. A-IV,. B-1I, C-1, D-III
3. A-IV. B-IL, C-II, D-1
4. A-II1, B-IV. C-1. D-TI

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1D 1Y GEl 11 6 e Bifoe

o seadm
A [s0-c I (50,000
B. |80-CCD(1) | IL |9 @1 10% T1 & 3114 BT 20%, ol Hi RUfa ol
C. |80-CCD(1B) | IOI. | 90T &7 14%
D. [so-ccp@ | 1v | 1.50.000
HId fGu U fadhedl | U T8l IR &1 99 DI

1. A-1, B-1I, C-III, D-IV

[-2

. A-IV, B-1I, C-I, D-III

L

. A-IV, B-1II, C-11, D-I
4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
533072765
No

Question Id : 53307219574 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Solar Tech Ltd., a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for
sustainable energy solution.

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities
and cultural differences, solar tech achieved a 25% market share within two years.

The success of the company was attributed to strategic partnerships, product customization and
effective market entry tactics. However it faced ongoing issues with supply chain- disruption and
the need for continuous innovation to stay competitive,

Sub questions
Question Number : 141 Question Id : 53307219575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the primary reason for Solar Tech. to expand its business to Indian market?

. Declining domestic demand
2. Favourable policies and growing demand in India
3. Lower production cost in India

4. Saturated international market
Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307219576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



How did Solar Tech Ltd. initially approached the market entry into India?

1. By setting up a wholly owned subsidiary

[

. Through a joint venture with a local firm

LS

. By acquiring a local competition
4. By exporting products directly

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307219577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was a key factor in Solar Tech. ability to achieve a 25% market share in India?

L. Price reduction
2. Aggresive advertising campaigns
3. Strategic partnership and product customisation

4. Government subsidies
Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What were some of the challenges Solar Tech. Ltd. faced in Indian Market?

1. Labour shortage and high tariffs

2. High inflation rate

3. Political instability and poor infrastructure

4. Regulatory complexities and cultural differences

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307219579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Despite its success, what ongoing issue did Solar Tech Ltd. encounter?

1. Decreasing customer base

I3

. Increased competition from local brands

fad

. Supply chain disruption
4. Difficulties in securing financing

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219574 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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A IR T Fmfer, TIeR ¢ fafies = St oXq IR | He) &1 THA &% o foe
JH STORT H fRAR &3 &1 O] &1 | dfieh SRl &l fageu e o &g e |
3D TGO oot Al o4 Fefd Foll T B dgelt A B HRUI HRA D A
for |

TR ¢ ffes § SR I AR fdR0 4o &1 qH I8H & v @ ®FHE 6 9
T Je R | I5iH et Ta! 3R Sieardiy fufd & Sy o0 Jare!
o ol ufvad fou | fafamat el R Splad qeel okt gesd gl &
qds[g IR O G Wrell o 3fe 25% TR G U &% ferdT| bl 1 Wbt T 99
TRl WrRraINa, SeG Sdar SR FHId aIoR Jow gfdedt @t foa o gt g9
Wgﬁ%ﬂﬂﬁﬂ%@ﬁﬁ%%ﬁwﬁmmﬁﬁﬂﬁwm
4o el ol

Sub questions

Question Number : 141 Question Id : 53307219575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR ¢ gRT YR dIR § 30T SHauY [aLINd B &l UIdfEd SR ] U192
1. el TR T
2. YRd H dedl T 3R e il

3. YRd § & 16 Rl
4. G SR IO
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 53307219576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HieR ¢ feffies 9 Ye3fid § YRd H dNR Y42 fhd YR fbar 2
1. quf T1fHcd drefl Suit SoTs RIMUd Hdy
2. R B & 1Y Ygdd 399 gR1
3. R uidegel & HEUgu gRI
4. JG&Id: I1G faid P

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307219577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR H 259% TR [GRIER] 3ffold B Bl UIeR ¢ 1 47l Bl U FE DR o1 41 2
1. el el

2. 3PS 10 fHaH

3 I HSIER] R IaTG e
4, R Hiedfsr

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HieR fefid e gRT YR 9oR H FHigd oo gHIfaar o i
L. 49 DIl 3R 3= R®

.3 amlfd a3
3. IoHIdD AR 3R W9 Tl

4. fafameTy Sfedraq 3R wRpiad favedny

Options :
1.1
2.2
3.3
4.4

[

Question Number : 145 Question Id : 53307219579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g adl & ddolg GleR ¢ s 9 fbd 9qa e b1 i faar 2

1. Gedl IUHTET STUR
2. R 981 9 dgdl Ufaeaed

3. 3{TYfd §aT SHRY
4. [aIOIY0T UTd 3 H HI3TS

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 533072766
Question Shuffling Allowed : No

Question Id : 53307219580 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEQ has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity  : 0.60

¢) Fixed Assets to owner’s equity : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : § Times
f) Owner’s equity :21,00,000

The CEO is puzzled to get the SMS, as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

Sub questions

Question Number : 146 Question Id : 53307219581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What would be the value of fixed assets as per the ratio given in the case?

1.% 50,000

[

.2 60,000

LS ]

.2 70,000

4.3 75,000

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the value of long term debt from the given data

1.% 32,000

(i)

.2 35,000

(el

. 236,000
4. % 39,500

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the value of total assets from the given information

1. % 80,000

[

. % 1,20,000

(]

.2 1,45,000
4.3 1,60.000

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What would be the value of sales as per the data given in case.

1.2 1,60,000

(i)

.%2,20,000

(el

.2 3,00,000
4. % 3,20,000

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307219585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Compute the value of inventory from the data given in case.

1.%40,000

3

. 245,000

LS

. £ 50,000

4. % 60,000

Options:
1.1
2.2
3.3
4.4

Question Id : 53307219580 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



Fraferad IRTME 91 7¢ ok 74l & T vt

STCIR U Sl ABc fifiies @l fad veve 3o UvaR o 91 il 60 R g3 oM
T 71 31 510 W W SHideide] & SRU 98 BiF Hid B T W I3 H g8 ¢
gl TU G I ¥ G U 3T T WSl Bi el & Y 43 i, ZHf
F9 fareia foaRun Y oS By Gl W X o fort Hsfeids l swvs e

forel Wefereh o U S SR T 4 3R G 210 R Fexele glayn gl g & HRul
difesd G Wi | Sewele Bt Ggral o | o W T Tl S Wid & SR W dg
Tig ol 1 FgfciRad Y Hor & 9o Xg1, ol 2 ¢ a6 fedliay/ I gl
&) Gl BUIH AT BV T U : 0.40
T) Gl BV H @I B3 < 0.60
1) 3fefel Gufoal | il & 2 0.0
H) ol GUf 31 - G T
§) gl 3 ; § T
) v 1 Tl : 100,000 ¥UT
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Sub questions

Question Number : 146 Question Id : 53307219581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U ATl / TRufaY i QU 10 3UTd & 3R 3l Yufrd! &1 9ol R g 2

1. 250,000

2.260,000
3.270,000

4.375,000

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219582 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

fAafeRad STer 4 Sraiaie 0 &1 UgdH &y |

1. 32,000

[

. 35,000
3.3 36,000

4. 39,500

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e a1 9 Hd UREURE! &1 7149 1d B

1. T 80,000

[

. % 1,20,000

LS

. % 1,45,000

4. ¥ 1,60.000

Options:
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR A / FRufd QU 70 STel & 3uR fdehl &1 Y / |19 &1 8171 2

1.3 1,60,000

]

.3 2,20,000

%]

.2 3,00,000

4. 3,20.000

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307219585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Tl / TRUTd Tt STeT 9§ Rg il (3-d=h) &1 Jed / /I J1d 2

1.3 40,000

[

. 245,000
3.350,000

4.260,000

Options :
1.1
2.2
3.3
4.4





